Reticolato 2 a2

Nome:

Usa la moltiplicazione del reticolo per risolvere ogni problema.
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97 x 28 =

Risposte
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Reticolato 2 a2 Nome: Soluzioni
Usa la moltiplicazione del reticolo per risolvere ogni problema. Risposte
1) _ 2) _ 3) _
96 x 32 = 69 x 54 = 97 x 28 = n 3.072
9 6 6 9 9 7
1 ! 1,7
2 3 3/,/ 5 1 ,/,' 2 2 3726
3 7 8 3 0 ] S 2 8 |.” 4
1 1 2 13 7 5 .7 3. 2.716
8|, 2|° I 2|6 |°
0 7L 4 7 & s 6825
7 2 2 7 6 1 6
5, 3.792
4) — 5) _ 6) _
75 x 91 = 48 x 79 = 56 x 73 = 6 4.088
7 5 4 8 5 6
6 R I 2 7% 7, 3 7 M 3.105
6 3 > 3 |~ 817 O 4 517~ 2
0 0 3 |7 1 1 . 8. 3.780
7 5| "6 2 |° 5| 8"
8 7 1.7 0
2 5 9 . 2 8 8
10. 1.080
7) 8) 9
45 x 69 = 84 x 45 = 29x41=
11. 5.487
4 5 8 4 2 9
2 3 6 3 0 1 4 0 3 /,’/ 4 12. 2223
3 4 0 3 ’ 2 , 6 1 g .~ 6
3 4 <14 2 0 o .~
9 5 R
1 6 5 7 1.~ O 0 1 2 ,," 9
0 5 8 ,7 0 8 9
10) 45x 24 = 1) 93x59= 12) 57x39=
4 5 9 3 5 7
1 A 2 7
0 NE 4, 5 1 3
1 8 5 5 / 5 5 5.7 1
1 2 18 ]2 4 6 -
4 ,' 9 29
0 6 0 4171 7 5 5|, 3
8 0 © 8 7 2 3
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